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Figure S1: 'H (200 MHz) and *3C (50 MHz) in CDCl; for 4a.
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Figure S2: 'H (200 MHz) and *3C (50 MHz) in CDCls for 4b.
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Figure S4: 'H (200 MHz) and *3C (50 MHz) in CDCls for 4d.
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Figure S5: 'H (200 MHz) and 3C (50 MHz) in CDCl; for 4e.
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Figure S6: 'H (200 MHz) and *3*C (50 MHz) in CDCl; for 4f.
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Figure S7: 'H (200 MHz) and *3C (50 MHz) in CDCl; for 4g.
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Figure S8: 'H (200 MHz) and *3C (50 MHz) in CDCl; for 4h.
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Figure S9: 'H (200 MHz) and 3C (50 MHz) in CDCl; for 4i.



6T
T
LS°T
w91
69
wt
SLT
8L'T
T
98T
s6'1
66T~
00z
Lre
1T

7
e
€T
ez

YT
9T W
8T'v
(4 \

8T,
1L
ws
YL
€DAD 92°L
0€°L
€L
€L
€L
bL W
'L
SLL~
8L

'8~
svs
€98 —

Fsot

0.5

1.0

1.5

2.0

2.5

3.0

4.0 3.5

4.5

5.0

T
5.5
f1 (ppm)

6.0

6.5

LEaN
ree—
D.?N\

59 —

NAQVV.

80t

SIS —

v'79—

899 —

€DAd TLL—
0v8 —

026 —

e —
L'ETT 7
8L —
eser
8TET
9bET —

6T —
8LHT
0'6bT ~

e

YW A iy

130

170

150 140

160

180

190

f1 (ppm)

i.

1H (200 MHz) and 3C (50 MHz) in CDCls for 4

Figure S10



e
e W
0r'L

€DaD 97°L 7
oL~
vrL "

58~
6c8”
958

= Fsot

== TFoo01

—= Feot

= Fot

4.5

5.5

f1 (ppm)

S'6b—

865 7
009 7
S¥9 —

€0A0 TLL—

§78 —

06—

0€TT —

9bET —

0'SPT~
89pT —
0'8pT ="

b

e

120

160

170

110

140 130

150

180

190

f1 (ppm)

Figure S11: 'H (200 MHz) and *3C (50 MHz) in CDCl; for 4k.
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Figure S12: 'H (200 MHz) and *3C (50 MHz) in CDCls for 4l.
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Figure S13: 'H (400 MHz) and *3C (50 MHz) in CDCls for 4m.
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Figure S14: 'H (200 MHz) and *3C (50 MHz) in CDCls for 4n.
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Figure S15: 'H (200 MHz) and *3C (50 MHz) in CDCls for 4p.
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Figure $16: H (200 MHz) and 3C (50 MHz) in CDCl; for 4q.
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Figure S17: 'H (400 MHz) and *3C (50 MHz) in CDCl; for 4r.
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Figure S20: 'H (200 MHz) and *3C (50 MHz) in CDCls for 4u.
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Figure S21: 'H (200 MHz) and *3C (50 MHz) in CDCl; for 4v.
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Figure $22: 'H (200 MHz) and *3C (50 MHz) in CDCls for 4w.



20—

v9'9
899~
(2]
b9 7
€DAD 92°L
€L /
€L

SEL \
9€'L

20°8T

HT €T
EpTe

Foev

Foce

8€'T
10T

Foot

5.0
f1 (ppm)

5.5

ST1Z
€62\
8YT ~

857
99z 7
098 —
T —

€65 —
65—

€0A TLL—
88—

676 —

T~
0'STT~_
09TT —

£€ET —

STHT —

T'65T —

ol
b e

-20

-10

10

T
20

30

50

70

110

210

f1 (ppm)

1H (200 MHz) and 3C (50 MHz) in CDCls for 4x.

Figure S23



8b'T
o1 *
S9'T

89°T A3
oLt \
wn

STT~
ozz—"

9ULT—

60°L1
o1z
a8
€12
9T A
12
0z
T2
YTLA
STL
€002 92
8L
8z
9L
9L
6v° ]
05°2
§5°2
952
65
09

— —

60T
9s°T
ST'T
00T

f1 (ppm)

N.MN/

LT~
ST
goz/

L6E—

Ty —

965 —

€0A TLL—

88—

8'56 —

S'szt
8'sZT W
6921
gaer

€71 77
ceer/

-10

f1 (ppm)

1H (200 MHz) and 3C (50 MHz) in CDCls for 4y.

Figure S24



faa3
f4aa4
Elnd

sTL
€1000 9T°L
@Ze
8L
LELNE

8€°L
6€°L
WL
WL

WL

F

€€
10T

0.5

1.0

1.5

2.0

2.5

3.0

1
o

<
<

1
<

5.0
f1 (ppm)

T
5.5

€91 —

€0A0 TLL—

798 —
06 —

9'€eT —
8LTT~
€821~
ALES

bSLT—

-20

-10

10

T
20

30

50

70

110

210

f1 (ppm)

1H (200 MHz) and 3C (50 MHz) in CDCls for 4z.

Figure S25



e
61'L
1L
€L

€00aD 9°L
6L
0€°L
€L
br'L
SbL W
L
[
e

W8
£9'8 "
598~
998~

[£6°0T

—1ee

[~ €0'T

[~ 00T

wmo.ﬁ

f1 (ppm)

8'6F —

onmv.

909

€DAd TLL—
6'¥8 —

916 —

0'€TT ~\_
9'€LT
L2~
eger
81ET
eper

b~
PUPT~
L8pT "

-20

-10

T T T
70 60 50 40 30 20 10

80

110

210

f1 (ppm)

1H (200 MHz) and 3C (50 MHz) in CDCls for 4aa.

Figure S26



€51
€51
el
=
3
1 %
=y %
66
8z
087
787
07
e
7€

ol

Fose
ooy

917
867

il

1.0 105 100 95 90 85 80 75 70 65 60 55 50 45 40 35 30 25 20 15 10 05 00
f1 (ppm)

11.5

125 120

T —
995 —

0E—
£0°6E —

004 —
95'6F —

085 —

159 —

6418 —

16—

ST —
95611 —

0Teil —

STTET —

-20

-10

30 20 10

40

210 200 190 180 170 160 150 140 130 120 110 100 S0 80 70
fl (ppm)

220

Figure S27: 'H (200 MHz) and *3C (50 MHz) in CDCl; for 4ab.
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Figure $30: 'H (200 MHz) and 3C (50 MHz) in CDCl; for 4ae.



